@ Steel Wall Mounted Kutu igerigi %
Module — With Bellows
ARMENDUS

Product Box Content

SUPPORT ARM & ENCLOSURE SYSTEMS ( Qellk DUVGr Montqj MOdU|u KorUklu )

TS EN 50085-1
TS EN I[EC 61439-1

WARRANTY

ARM130.705

konfigirasyondaki gibi olmalidir. Aksi halde yapilan

1 Bu moduilin yUk tasima ekseni asagidaki 6rnek
montaj uygulamalari kesinlikle 6nerilmemektedir.

2 Agi civatalarini yuvalarina takiniz.

(Insert the angle bolts into their slots and tighten
them.)

The load bearing axis of this module should be as in the
example assembly below (prependicular). Otherwise,
assembly applications are not recommended.

Bu kisim yukari yénde
konumlanacakitir.

(This part will be positioned
Upwards/Vertical)

M8X20 (x2)

www.armendus.com



Sari renkli banti ¢ikariniz. Yapigkan yizeyi igeri Profili ok yéniinde iceri dogru yerlestiriniz.
gelecek sekilde contayi yerlestiriniz.

(Insert the profile into the coupling as shown in the
picture below.)

(Remove the yellow tape. Place the gasket with the
adhesive surface inside)

.'.".; 1
M8x 20 (x2)
Aci Civatasi
.. -
e i)
» : UM
Profil civatalarini takiniz. Agci civatalar uzun mesafeli tastyici kol uygulama-
6 larinda olusabilecek profil sarkmalarini engellemek

( Tighten the profile bolts. ) icin kullanihr.

(Angle bolts are used to prevent profile from sagging
due fo heavy weight that might occur in long length
profile applications.)

M8x20 (x2)
Aci Civatasi

M8 x 40 (x4)
J8.4 (x4)

M8 ( Alyan)

www.armendus.com




Aci1 ayari icin M8x20 civatalar kullanin. Korik's ok ydninde modilin Gstene gelecek
sekilde montajlayiniz.

( Use M8x20 bolts for angle correction.)

(Assemble the bellows in the direction of the arrow
to cover the module.)

Uygulamanizda sarkma yok ise a¢i civatalarini
orijinal konumunda modil Ustinde
birakabilirsiniz.

(If there is no sagging in your application, leave
the angle bolts in tightened position.)

Uygulamanizda sarkma var ise M8x40 profil
civatalarini 2-3mm geri ¢gekecek sekilde gevseti-
niz. Aci civatalarini egim farki kapanana kadar
sikiniz. ( Egim kontroly igin su terazisi v.b araglan
kullanabilirsiniz.) Uygun M8x40 profil civatalarini
sikiniz.

(If there is sagging in your application,loosen the
M8x40 profile bolts by 2-3mm depending on the
angle desired. Once the profile is set to the
desired position, fighten back the M8x40 angle
bolts. You can use a spirit level etc. to check the
slope.)

Korik baglama pargalarint kérik’on iki u¢ kisminda
ediniz.

Yiksek sizdirmazlik igin kérik baglantilari kontrol
bulunan yuvaya yerlestirip iyice sikiniz.

(Place the bellows coupling parts info the slot on the two ends
of the bellows and tighten them well.)

(Check the bellows connection for high sealing.)




Sari renkli banti ¢ikariniz. Yapiskan yizeyi igeri M8 Duvar baglanti civatalar kutu icerigine dahil
gelecek sekilde contayi yerlestiriniz. degildir.

(Remove the yellow tape. Place the gasket with the adhesive
surface inside)

(M8 Wall anchor bolts are not included in the box.)

M8 (x4)

1 3 Modilin plastik kapaklarini takmayi unutmayiniz.

(Do not forget to attach the plastic covers of the
module)

Pano Gzerine acilmasi gereken civata baglanti
14 delikleri ve kablo gegis delik dl¢ileri.
( Bolt connection holes and cable hole dimensions
on the panel if required for assembly )

184,41

188,6

www.armendus.com




